Shopping Activities, Purchase Cost: 3[A]

Solve these money problems.

order of French-fries = $1.00

cola = $1.50
hamburger = $2.50

ice cream cone = $1.00

1)

If Sharon wanted to buy a hamburger and a cola, how much
would she have to pay?

- 2) Michele wants to buy a cola. How much money will she
A need?
| | 3) What is the total cost of a hamburger and an order of French-
| fries?
s —
4) If Michele wanted to buy an order of French-fries, how much
& money would she need?
T 5) Paul wants to buy an ice cream cone. How much will it cost
m him?

Solve these money problems.

hat = $12.00 jeans = $30.00 N—
jacket = $25.00 t-shirt = $6.50
6)

What is the total cost of a jacket and a t-shirt?

7) If Michele wanted to buy a jacket and a hat, how much
money would she need?

8) If Brian wanted to buy a jacket and a jeans, how much would
he have to pay?
9) Jennifer wants to buy a t-shirt and a hat. How much will she
have to pay? @

10)

If Jackie wanted to buy a jeans and a t-shirt, how much
would it cost her?
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Shopping Activities, Purchase Cost: 3[B]

Solve these money problems.

order of French-fries = $1.50 cola = $1.90
hamburger = $3.75 ice cream cone = $1.75
1) What is the total cost of two orders of French-fries and a
hamburger?
- 2) What is the total cost of an order of French-fries and a
A hamburger?
= 3) Brian wants to buy two colas and two hamburgers. How

much will it cost him?

4) Jackie wants to buy two ice cream cones and an order of
French-fries. How much will she have to pay?

5) What is the total cost of a cola and an order of French-fries?

([

Solve these money problems.

hat = $6.90 pair of jeans = $38.00 N—
jacket = $29.00 t-shirt = $8.50

6) If Donald wanted to buy a t-shirt and two hats, how much

would he have to pay?

7) Paul wants to buy a t-shirt and a jacket. How much will it cosf
him?

8) Donald wants to buy a pair of jeans and two hats. How much
money will he need?

9) If Sharon wanted to buy two hats and two pairs of jeans, how
much would it cost her?

10) Donald wants to buy two hats and two pairs of jeans. How
much money will he need?
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Shopping Activities, Purchase Cost: 3[C]

Solve these money problems.

order of French-fries = $2.50

cola = $2.50
hamburger = $3.50

ice cream cone = $2.75

1) What is the total cost of a cola, three ice cream cones, and a
hamburger?

- 2) What is the total cost of an ice cream cone, three
) \\ hamburgers, and three orders of French-fries?

| | 3) What is the total cost of two ice cream cones, a hamburger,
| ] and two colas?
=

4) If Janet wanted to buy three orders of French-fries and a

& hamburger, how much would it cost her?

‘a’ 5) Donald wants to buy three orders of French-fries, two colas,
m and an ice cream cone. How much will it cost him?

Solve these money problems. You may use your calculator for these.

hat = $10.50
jacket = $34.50

pair of jeans = $29.00
t-shirt = $8.50

N

6) If Audrey wanted to buy two hats, a t-shirt, and a pair of

jeans, how much money would she need?

7) Jackie wants to buy a t-shirt, a hat, and two jackets. How

much will she have to pay?
8) Ellen wants to buy two pairs of jeans and a hat. How much
will she have to pay?
9) Marin wants to buy two pairs of jeans, two hats, and a jacket.
How much money will she need?
at,

10) If Jackie wanted to buy a t-shirt, two pairs of jeans, and a ha

how much would it cost her?
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ANSWERS

Shopping Activities, Purchase Cost: 3[A]

Solve these money problems.

order of French-fries = $1.00 cola = $1.50

hamburger = $2.50 ice cream cone = $1.00

would she have to pay?

=

need?

,
" y
||I\

fries?

money would she need?

([

1) $4.00 If Sharon wanted to buy a hamburger and a cola, how much
2) $1.50 Michele wants to buy a cola. How much money will she

3) $3.50 What is the total cost of a hamburger and an order of French-
4) $1.00 If Michele wanted to buy an order of French-fries, how much

5) $1.00 Paul wants to buy an ice cream cone. How much will it cost

him?
Solve these money problems.
hat = $12.00 jeans = $30.00 N—
jacket = $25.00 t-shirt = $6.50

6) $31.50 What is the total cost of a jacket and a t-shirt?

7) $37.00 If Michele wanted to buy a jacket and a hat, how much
money would she need?

8) $55.00 If Brian wanted to buy a jacket and a jeans, how much would
he have to pay?

9) $18.50 Jennifer wants to buy a t-shirt and a hat. How much will she
have to pay?

10) $36.50 If Jackie wanted to buy a jeans and a t-shirt, how much
would it cost her?

o
\
Y,
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ANSWERS

Shopping Activities, Purchase Cost: 3[B]

Solve these money problems.

order of French-fries = $1.50 cola = $1.90
hamburger = $3.75 ice cream cone = $1.75

1) $6.75 What is the total cost of two orders of French-fries and a
hamburger?

=

2) $5.25 What is the total cost of an order of French-fries and a
hamburger?

.
" Iy
||I\

3) $11.30 Brian wants to buy two colas and two hamburgers. How
much will it cost him?

4) $5.00 Jackie wants to buy two ice cream cones and an order of
French-fries. How much will she have to pay?

5) $3.40 What is the total cost of a cola and an order of French-fries?

([

Solve these money problems.

hat = $6.90 pair of jeans = $38.00 N—
jacket = $29.00 t-shirt = $8.50

6) $22.30 If Donald wanted to buy a t-shirt and two hats, how much
would he have to pay?

7) $37.50 Paul wants to buy a t-shirt and a jacket. How much will it cosf

him?
8) $51.80 Donald wants to buy a pair of jeans and two hats. How much
money will he need?

9) $89.80 If Sharon wanted to buy two hats and two pairs of jeans, how
much would it cost her?

10) $89.80 Donald wants to buy two hats and two pairs of jeans. How
much money will he need?

www.profpete.com



ANSWERS

Shopping Activities, Purchase Cost: 3[C]

=

.
" y
||I\

([

Solve these money problems.

order of French-fries = $2.50

cola = $2.50
hamburger = $3.50

ice cream cone = $2.75

1) $14.25 What is the total cost of a cola, three ice cream cones, and a
hamburger?

2) $20.75 What is the total cost of an ice cream cone, three
hamburgers, and three orders of French-fries?

3) $14.00 What is the total cost of two ice cream cones, a hamburger,
and two colas?

4) $11.00 If Janet wanted to buy three orders of French-fries and a
hamburger, how much would it cost her?

5) $15.25 Donald wants to buy three orders of French-fries, two colas,

and an ice cream cone. How much will it cost him?

Solve these money problems. You may use your calculator for these.

hat = $10.50

pair of jeans = $29.00
jacket = $34.50

t-shirt = $8.50

6) $58.50 If Audrey wanted to buy two hats, a t-shirt, and a pair of

jeans, how much money would she need?

7) $88.00 Jackie wants to buy a t-shirt, a hat, and two jackets. How

How much money will she need?

10) $77.00 If Jackie wanted to buy a t-shirt, two pairs of jeans, and a hg

how much would it cost her?

much will she have to pay?

8) $68.50 Ellen wants to buy two pairs of jeans and a hat. How much
will she have to pay?

9) $113.50 Marin wants to buy two pairs of jeans, two hats, and a jacket.

N
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